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7. Find f'(x) for f(z) = In(22% — 8)
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11. At a certain instant, 100 grams of a radioactive sub-
stance is present. After 4 years, 20 grams remain.
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12. A bowl of soup at temperature 180° is placed in a
70° room. If the temperature of the soup is 150°
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=1
5]

3.\/1'6: A= oeP

let 9= artS\nAX \

\
. A
=X
o %

Find ton® \ -x2
A

p - D

el -
tard= gy~ {i-x*

\
4 arcswR= ———
Iz - %
-\
_0\/ orceosx = ———
V=X
AR
X =
% arctan e
X
14. Find the derivative of y = 27 arccos(e**)
product cule = ] €3x)+ 7\9&. —”;‘):
Chawn fule M . a3 marccos( -(e
oK
15. Find the equation of the line tangent to
y = tan !(2x — 1) when = = 1. 5 )
- iy 90\/\'\2 ( LY

PD\/\-\: when A= l) Y= +an (V) _,_.L’_-

_ 4 N lax-)
&\ = ton (A7)

hye

-\
a fan A=
A%

3X

VA



, 1+ 2
16. Compute the exact value of lim arccos ( - )
T— 00 Hh—dr

13X o,
arceos (;‘_’3 s-4x ): 3-—

=)

1

arccos (‘ i‘)

=) <
COS-e; 5:'7 Oée.

ﬁ\QQW

f

N X
3 5

17. Compute sec(arctan(—+/5))
e S A

5]
D= arc,’can(* E)

~ >
+aond = - g PP ‘i <O< 73
"_‘_’- ady
\ I'\IAP = _'g:(é :

N\
oL A - :__r3_ —
18. Compute arcsin(sin ?'I T @Qresw 2 -

B= arts\n (_j;rz)




19. Find the limits of each of the following: SV '¢(7‘) = O o 4l
| v x3a g(n) © ©
. arcsin(3r) o
a) lim ——— — )
0 27 0 L L fx
dhen W T = W~ = X
R2a 9(7\) T a %(
( (3}
=\ \-a% _
ad )
L

& A arcsinx= =
ﬁ {2

Inz N bt o -
b) lim 1;% = DO / { R
v T o
_\- __\_ (_ia-—.ri —_ \\M ,./——a
(_: L\ K _ lUm X \ - ,ﬁ,’oo ﬁ
—  xA® N K->
&
a - 0O
c) lim Iz . —®©
=0+ /T D

. o))
= (o)(®)=



d.) zli;f}g_[sec;c—tan;r) = \\m_( I S\(\X> _ o-® = ?

n—*% COSX COSx o

R CPN |- s\wX o)
K> pl O
> C_OSX
R ORI 2, S I
- ’K—‘%— ~S\AX -\

ndetermnate oroduct S (0)(®)

‘ot \)fl(\% one dOLOﬂ
e.) z1_1P111'1+(t“ — 1) tan(mz/2) = (o\(m\) - bf\f‘fj ont down]

=\

X
ok € \

= O R S
tm\(%>
X~ _ _©
\\m - -
Lad cot ©

- En\:\\" -cst (“)U

. =
>~
4x
) 24::: [ ] . _ l>
pam () e e (03

2
sheon: Rny: (V¥ %)

&K

2N
Qnye dx2n (M %)

2
Syep3z  \w Qnys- (e ,_W,Q,\(\ X )2 00 2l -\—erml/’ak
R e e - YO ‘p’\mdu& |
n
R - one down’
k\m L-\'K’Qh(\+ x )
y Sl
: s (SR
by R (1T =) o “”C‘D w2 A
A0 —/_‘/__ o} A=
7‘ \lm 8 = g
\ 2 > x>8 (+ 2
-3 7
;\: 4 (“’%)( x answer
-3 / A
-\ erEP 3 c
-3 —
X
,Qr\lﬁz 3



. 1 .
20. If f(x) = —, verify f(x) satisfies the Mean Value \
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Theorem on the interval [1,10] and find all ¢ that
satisfies the conclusion of the Mean Value Theorem.
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22. Find the intervals where the given function is in-
creasing and decreasing, local extrema, intervals of

concavity and inflection points.
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24. In the graph that follows, the graph of f' is given.
Using the graph of f". determine all critical values
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25. A cardboard rectangular box holding 32 cubic
inches with a square base and open top 1s to be
constructed. If the material for the base costs $2
per square inch and material for the sides costs $5
per square inch, find the dimensions of the cheapest

such box.
conskr Gwt: V= 34

32
g (2 32— he 55
0N

S
ch s-)dea m.\r\'\m'l%e. cost = C’\mse a 4 s\des
ca
ts ke = 3(7\’“)-\—5(41&\}
2
- 2Ax + &0 xh

a 33
:QX 4—307\< xa

e 40 F\,\d m'\/\imum
X

C = ax +




26. Find the area of the largest rectangle that can be
inscribed in a right triangle with legs of length 3 m
and 4 m if two sides of the rectangle lie along the

legs.
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